Engr 5a F.Brewer

Homework #6

Due next Wed

1. Find the solution for the indicated initial conditions:
[—2 1] | - 1y = [4]
1 2|jy, Y5 1

2. Find the solution for the indicated initial conditions:
[—5 1] | < P o) = \:3]
-6 0] |y, Y2 2

3. Find the solution for the indicated initial conditions:

0 -1 0] " -2
“1 4 —4|{y;| = |7} YO =10
-3 9 -7 Y3 y3' 2

4. Prove that A*B = B*A for any square, diagonal matrices A, B.

5. Show that, for any square matrix A: (i.e. A commutes with et
1A

de™ _ A" = A

dt
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